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Topic:- General Knowledge and Logical Knowledge

1) Find the next expression in the series: / mﬁ sm?ruaﬁmab"rﬁm
ABZ, ABBYZ, ABBBXYZ, ?

1. ABBBBBBBYZ
2. ABBBBBBXYZ
3. ABBBBVWXYZ

4. ABBBBWXYZ

Correct Answer :-

e ABBBBWXYZ

2) If VIRUS is coded WISVT, then how is BACTERIA coded? / Tfeé VIRUS &1 wusvT & difsd fear wirar g, @t
BACTERIA D1 $d SHifed fhar w2

1. ABDUFSJIB
2. CBDUFTIB
3. CBDVFSJB

4. CBDUFSJB

Correct Answer :-

e CBDUFSIB

3) A bag contains 5 black and 6 white balls; two balls are drawn at random. What is the probability that the balls

drawn arewhite?/WaﬁﬁSWGﬁ?Gmﬂ%?éﬁ?Wﬁﬁaﬂ%mmﬁmmglﬁ?ﬁ'
w1 Wiy g fos Frerel} 718 91 Twhe 82

10
11



3. 11
3
11
4,

4) In which year did India not fight a war with Pakistan? / g af o yRa A wfewam@ & Ty & qﬁﬁm"
1. 1950
2. 1965
3. 1947

4. 1971

Correct Answer :-

* 1950

5) How many States are there in the Indian Union? / W?ﬁ'q Y ﬁ' ﬁﬁﬁ' Y %:?
1.28
2.29
3.27

4. 30

Correct Answer :-

6) Which act drastically redrew the boundaries of states and territories in India, organizing them along linguistic

n_nes?/E@ﬁ%ﬁ%%ﬂvﬁeﬁvaﬁﬁ%ﬂmﬁaﬁwwﬁmw,umﬁ%mﬁ%mua%

1. States Reordering Act, 1959 / 15T HHIRUT &rfirﬁuﬂ, 1959
2. States Reordering Act, 1963 / X0 ShHIARUN HfAFTH, 1963
3. States Redrawing Act, 1957 /WT;W Hﬁfﬁuﬁ, 1957
4. States Reorganization Act, 1956 / JIsd EFF'TB_"I foélﬁ'm:{, 1956

Correct Answer :-



« States Reorganization Act, 1956 / XIsd Wf_d_"l ST, 1956

7) Which team won the Vijay Hazare Trophy 2016-17? / 2016-17 # faoa gwR g\hﬂ fraa St
1. Mumbai/Ha_ic
2. Tamil Nadu / ﬂﬁlﬂ:ﬂ_g'

3. Bengal / STTTQ

4, Baroda / a@a

Correct Answer :-

« Tamil Nadu / A8 1

8) Which one of the following organizations was started by Jyotirao Phule in 1873? / 1873 A fFufeafaa A o k)

TS BT ARY SGifeRTa Fal = farar 4
1. Satyashodhak Samaj / AN FHS

2. Bahujan Samaj / dgul HHI

3. Justice Party / Sfeeq uref

4. Prarthana Samaj / T qHTS

Correct Answer :-

o Satyashodhak Samaj / RS THS

9) Which of the following is considered to be the first supercomputer developed in India?  FFafafea A 3 fea
R $IER I YR B 4T fawRya gom urn mar 82

1. SAHASRA T / GgTERT &
2. SAGA 220 / 91T 220
3. PARAM YUVA II/ TRE 4T ||

4. PARAM 8000 / UXH 8000

Correct Answer :-
« PARAM 8000/ U3H 8000

10) Which of the following districts is known for production of opium? / fFrafafaa fore o P T B Jdlgd
¥ forQ =T ST 27

1. Sheopur / @T
2. Mandsaur / &R
3. Shivpuri / RIGGH



4. Sidhi / Tf&

Correct Answer :-

e Mandsaur / IE@T

11) Which of these was the last European country to rule Goa? / ?F'I'a' | AT IR A B arer sifaq @Tﬂ'q
X I AT U

1. Netherlands / = azé’s
2. England / 7018
3. Portugal / QeI

4. France / W1

Correct Answer :-

 Portugal / g?‘h'lTa

12) Which of these cities was known as Prayag in ancient times? / T g o s=|1?r EEaEk:| TMER VAN & A1
H ST STt Y12

1. Kannuauj / HAS
2. Jabalpur / STdcTYR
3. Varanasi / dRTURE!
4. Allahabad / SCiTeldlq

Correct Answer :-

« Allahabad / S]1lgldlq

13) The Bansagar Dam is named after / STORINR S1¢ ATH m SWR A TG T
1. Banusagar / HITINR

2. Sagar Samrat / YR {HTC

3. Bana Batta / §TUT Hg

4. Bana Rao / dUIT [

Correct Answer :-

» Bana Batta / &[0T Hg

14) Who was the first Chief Justice of the Madhya Pradesh High Court? / H& TR I AT BT Ugal e L2
e 1 A2

1. Justice A M Khanwilkar / WTGE%Q H RClIES e



2. Justice P.V. Dixit / <aradfe Ut &t fiféra

3. Justice M Hidayatullah / W@ %HW
4. Justice G.P. Bhut / <JTaHfd .41 4e

Correct Answer :-

« Justice M Hidayatullah / << TH fRarrdeas

15) Who was the finance minister during the 1991 economic reforms? / 1991 & anfdfe ﬁ'ﬂ'ﬂ’f% R faa o=
S A?

1. Manmohan Singh / Iﬁj:nﬁ ﬁr&'

2. PV Narasimha Rao / Gl :IT%E’ X[d

3. R. K. Shanmukham Chetty / W%Wa@
4. R. Venkataraman / 3R, decx

Correct Answer :-

e Manmohan Singh / IFI’@IE:T ﬁrs'

16) Who was the author of Rajatarangini? / ITiae /0l A@® P A?

1. Surdas / QN
2. Sudraka / [aP
3. Kalhana / degUl
4. Kalpaka / U

Correct Answer :-

¢ Kalhana / degUl

17) The full term of a Lok Sabha is . | APIHT BT T CauEac G| 3-1?" %I
1. 6 years/ 6 CL

2. Syears/5 CL

3. 7years/7 CL

4.8 years/SE'Ef

Correct Answer :-

. Syears/Sa'Ef

18)



Fort William is located in Kolkata on the banks of the river / BIc fAfeTdH HIAPHTAT & T'I'(;pf & fpaR R4
gl

1. Hooghly / ETIT’ﬁ
2. Yamuna / gq-T

3. Brahmaputra / igTg"

4. Ganga / Tl

Correct Answer :-

« Hooghly / Gl

19) The civil disobedience movement was started in / fufaw X CERI Gl'la?ﬁ = frarmaT ot .
1. 1942

2. 1914

3. 1928

4. 1930

Correct Answer :-

20) The ninth Guru of the Sikhs was / Rrat & =ﬁ% = )}
1. Guru Arjan Dev / TR® &I\‘{héﬁ

2. Guru Gobind Singh / [ s Rig

3. Guru Amar Das / [ 3{HY Q¥

4. Guru Tegh Bahadur / [ GUKH gx

Correct Answer :-

o Guru Tegh Bahadur / 7[R Gl ERN

21) The number of Gold medals that India won at the Incheon Asian games 2014 is / STdT QﬁTCITg Qe 2014 A

YR RIS T ol ues! 31 W@ 3:
1.12
2. 10
3. 11

4.9

Correct Answer :-



22) Who became the Chief Minister of Madhya Pradesh after Uma Bharathi? / SHT YR & diq Cac k-1 Q%QT *
@1 §At a2

1. Digvijay Singh / fefiaora Rig
2. Shivraj Singh Chouhan / RIaRTsT Rig Te™

3. Babulal Gaur / S1gcT¢l TR
4. Kailash Joshi / Ty Sirgft

Correct Answer :-

« Babulal Gaur / ST MR

23) Geographically, the smallest state of India is___/ Wifers =u |, HRd &1 9 Biel I - Gl
1. Sikkim / fifapH

2. Goa /M3

3. Assam / 3{{H

4. Kerala / R

Correct Answer :-

« Goa/TN3M

24) Complete the series choosing the missing number: / T TBAT GIHT YEAT B GRT PHoIC:
1, 64, 343,1000,

1. 4739

2. None of the above /‘s’ﬂﬁﬁaﬂéqﬁ

3. 2197

4. 6391

Correct Answer :-

e 2197

25) Complete the series choosing the missing number: / & TBAT GIHR EAT B GRT PoIC:
3,15, 63, 255, 1023,

1. 4095

2. 4030



3. 4600

4. 4505

Correct Answer :-

e 4095

26) Complete the series choosing the missing number: / T JWT DT YEAT HI GRT HHOIC:
12,15,21,24,30

1. 44

2.58

3.33

4. None of the above /Eﬁ@aﬁgﬁ

Correct Answer :-

e 33

27) Complete the series choosing the missing letter/s: / W &R/ &R DI ABY gl Ea| T Piforg:
ab__b_aa__b_ba

1.b,a,3,a

2.3,b,a,a

3.b,b,b,b

4.3,3,3,a

Correct Answer :-
e b,b,b,b

28) Select the option that is true about the Statements and Conclusions given: /39 fapeu S99

PINTE S RE T HYAT 3R fFArpul & aR § a8 @:

Statements: / dYH:
All doors are windows / ! ars fRasfear &
All windows are handles / 9! fasfeai g &

Conclusions: / fasmd:
I. All doors are handles / 9t mg@%
II. Some windows are doors / & fasfeui vas &

1. only conclusion Il follows / FHad sy || &WW%
2. only conclusion | follows / Had fIpY | \’AWWT%



3. neither conclusion | nor conclusion Il follows /- ﬁ spy | 3R T gbf fasmy || S{TERUT I %
4, both conclusion | and Il foIIows/ﬁ"Eh_Gfl 3R I T G@TUTW%

Correct Answer :-

¢ both conclusion | and Il follows /ﬁ'&ﬁﬁfl GﬁT I Ea:ﬁ leﬁb_\’?f%

29) Select the option that is true about the Statements and Conclusions given: / 39 fapeu w199

FIRrT AP 3T Tu FY=T R fFrepel & 9 & W) 2:

Statements: / ®Y:
All dogs are cats / T} F faeeht &
Some cats are rats / P9 ot q% ?

Conclusions: / fAsp:

I. Some dogs are rats /| PO ﬁ i@ ?
II. Rats which are cats are not dogs / q% St fyeeht %ﬁ Hﬁ%

1. only conclusion Il follows / FHad sy || G@TUTWT%

2. only conclusion | follows /Wﬁ'@ﬁf | WW%

3. neither conclusion | nor conclusion Il follows / ﬁ e | GﬁT Gl 33[ e || S{FERUT GG %’
4. both conclusion I and Il foIIows/ﬁEFEfl 3R I Tl WW%’

Correct Answer :-

¢ neither conclusion | nor conclusion Il follows / - ?3[ ﬁmﬂf | GﬁT q éT ﬁ'Eb_‘ST [ SAFERUT Eb_iﬁ %

30) Select the option that is true about the Statements and Conclusions given: / 39 fapeu o199

FITT &l fp AT T FyET 3R FAepuf & aR A TEt @

Statements: / ®Y:
All lions are animals / 9 IR Uy &
All tigers are animals / gt 9rg g %

Conclusions: / fw:
I. All tigers are lions / ¥ aT9 3R §
II. Some animals are not tigers / $9 U3 919 T8 e

1. only conclusion Il follows / FHad sy || &WW%

2. only conclusion | follows /Wﬁﬁlﬂf | \HWWT%

3. neither conclusion | nor conclusion Il follows /- 33[ e | GﬁT Gl 33[ e || S{TERUT GG %
4. both conclusion | and Il foIIows/ﬁ'Eb_Efl 3R I E?Fﬁ WW%

Correct Answer :-

« neither conclusion | nor conclusion Il follows / T &1 fsh T | 3R 7 g1 ey 1| SR CEGR



31) The series given below contains a sequence of numbers. Identify the incorrect combination: / =

3t 13 ojmar #, W HT UP HH SUFRIG & | Ted WA ugar-e:
56, 54, 58, 49, 66, 34

1. 66

2.34

3. 49

4. 58

Correct Answer :-

e 49

32) If MAILis coded KYGJ, then how is LETTER coded ? /Tfé MAIL &Y KYGJ T Sifed forar wran g, ot
LETTER ! &4 Sifed far wmm?

1. NGTTTG
2. NGTTGT
3. JCRRCP

4. JCRRPC

Correct Answer :-
e JCRRCP

33) What is the value of x and y when, 43x567 + 53y26 = 4899932 / 5d 43x567 + 53y26 = 489993 d
x 3R y &1 HHE HT 82

1.4,4
2.9,8
3.6,4

4.4,6

Correct Answer :-

34) If CALCULATOR is coded UJSUOSIGVM, CHECK is coded UKWUA, then how is CORRECT coded? / gfe
CALCULATOR &' UISUOSIGVM ¥, CHECK %1 UKWUA & HifSd fdT &ITdT 8, 9 CORRECT &1 %4 Sifed forar
SRATT?

1. UKWGVMO

2. UOSSEUT

3. UJSUWUA



4. UVMMWUG

Correct Answer :-

« UVMMWUG

35) Find the odd one out: / TH faww w9 Eﬂﬁﬂ'{:
17, 19, 23, 29, 36, 40

1. 40
2.36
3.19

4. 29

Correct Answer :-

36) Find the odd one out: / T& fauH 19 Fifom:
1. Bag and Baggage / AT 3R I

2. Pen and Pencil / dH @Tﬁﬁlﬁ

3. Kith and Kin /“v'i_q"‘éﬂ ﬁqﬁﬁq

4. Bread and Butter/ﬁ_s' sﬁ'{w

Correct Answer :-
e Pen and Pencil / dH &ﬁ?ﬁﬁm

37) In a certain language dim dam dolpet means fish is tasty and brim crim dim means very tasty food . Then
in that language the word dim is used for: / Tdh WTH CAERYLI ff, dim dam dolpet H1 3 fish is tasty\?rﬁ?' brim
crim dim 1 Y very tasty food BT €1 S B8 HIWT H dim & fore {3 Wreq &1 s%awTa fpam T 82

1. tasty

2. food

3.is

4. fish

Correct Answer :-

 tasty

38) In a certain code language, hutch tel bsnl means all network busy, bsnl idea oasis means busy with work,
tel bpl orange means network not there. Which is the word for hutch in that code language? / U WTH Car)



HTHT 'l}l', hutch tel bsnl®1 AN all network busy, bsnl idea oasis T 3l of busy with work, tel bpl orange T 3l f
network not there B1d1 81 39 B8 MU § hutch & fore T T o1 swwTa foo o 82

1. network
2. work
3.all

4. busy

Correct Answer :-

e all

39) Select the option that is true about the Statements and Conclusions given: / 39 fapeu &1 9Uq Gﬂﬁl’l'{ )
f fow T By 3v frepul & I A T @

Statements: /| PY:
Some boys are engineers /| P& FIS% ?,Trﬂﬁ'CR %
Ravi is an engineer / Ifd T EilfaR &

Conclusions: / fass:
I. Some engineers are boys / $© Eﬁﬁﬁ'qT FIG%? %
II. Some boys are not engineers /| P& Tﬁ'ﬁ? ETrﬁﬁ'qT T-I'epf%

1. only conclusion Il follows / FHad frpy || &WW%

2. only conclusion | follows /W frspy | SR HdT %

3. neither conclusion | nor conclusion Il follows / - ?3[ fAspy | 3R T ?3[ sl SR GG %
4, both conclusion | and Il follows /ﬁEb_EfI 3R Eﬁ:ﬁ Waﬂﬁ%

Correct Answer :-

» only conclusion | follows /W frpy | STTARUT pdl %‘

40) The series given below contains a sequence of numbers. Identify the incorrect combination: / EiC] E.Pf TI'§

s o, T3l &1 Th HH SUFRIT € | TTad Halel- ygan=e:
3,7, 15, 30, 63

1.3

2.30

3.63

4. 15

Correct Answer :-

* 30

Topic:- Mental Ability and Mental Aptitude



1) Ifthe following two squares shown below overlap, which cne of the following options is formed? / AT
oo g a9 Afaenid g & o 7 & &9 W o fdeed a=cT &

[

s

4.

Correct Answer :-

7 X7

i

2) In the sequence shown below, which figure comes next? [ B T &H #, A 3TI?§% Sl |
HEER

RN




Which one of the following four addresses is NOT EXACTLY same as the one given below? ,"ﬁl’cﬁf ﬁ?‘:f EIE B IEY
Tat F ¥ A @ T o & 8F THIA BT G UF AT 57

Sheikh Mohammed Bin Zayed

#121 /122, Road (E 311)

lebelAliFree Zone,

P.0.Box 17846 Dubai— United Arab Emirates

(i) Sheikh Mohammed BinZayed

#121 /122, Road (E311)
lebel Ali Free Zone,
P.0.Box 17846 Dubai— United Arab Emirates

{ii) SheikhMohammed Bin Zayed

#121 /122, Road (E 311)
lebel AliFree Zone,
P.0.Box 17846 Dubai— United Arab Emirates

(ili) Sheikh Mohammed BinZayed

#121 /122, Road (E 311)
JlebelAliFree Zone,
P.0.Box 17346 Dubai— United Arab Emirates

{iv) Sheikh Mohammed Bin Zayed

#121 /122, Koad (E 311)
lebelAliFree Zone,
P.0.Box 17846 Dubai— United Arab Emirates



4, iii
Correct Answer :-

o iv

4) In the sequence shown below, which figure comes next? J= B 9 &8 #, AT 3TIT=§% Fia @

11 v

I
I
I
|

Correct Answer :-



5) The average of the first 8 multiples of 14 is: / 14 FYYA 8 '{[U]Tvﬁ BT 3Nd E.']TIT:
1.72
2.45
3.63

4. 60

Correct Answer :-

e 63

6) Rs. 750 are divided among A, B and C in such a manner that A : B=5:2and B: C =7 : 13, What is B’s share? /
750 YU P A, B MR CHASHUPR FicI AT e fF A: B=5:2 3R B: C=7:13 8, B P! fha uT fia

1. Rs. 250 /250 ®UU
2. Rs. 200 /200 24U
3. Rs. 260 /260 >UU

4. Rs. 140/ 140 34U

Correct Answer :-

e Rs. 140/ 140 %UU

7) How many litres of acid are there in 12 litres of a 20% solution? / 12 TR P 20% faea A fraq sfiex 'Q'ﬁl:";
BIm?

1. 1.2 litres /1.2 5‘“3?
2. 3.6 litre 1 3.6 WIeX
3. 4.8 litres [ 4.8 TIex

4,24 litres [ 2.4 5‘“3?

Correct Answer :-

o 2.4 litres [ 2.4 TR

8) If 3 tables and 2 chairs cost Rs. 215 and 2 tables and 3 chairs cost Rs. 250, then the total cost of 5 tables and 5

chairs will be: / Tfe 3 Al 3R 2 HRIAT BT g7 215 FUA 3R 2 A 3R 3 FRIGT &1 ge7 250 U 31 <t 5 A



3R 5 HRIYT BT g gH:
1. Rs. 500 / 500 3T
2. Rs. 430/ 430 S0
3. Rs. 465 / 465 S0

4. Rs. 450 / 450 ST

Correct Answer :-

« Rs. 465 /465 30

9) A shopkeeper bought 6 tonnes of wheat at Rs. 1.80 per kg and sold 4.7 tonnes out of it at rate of Rs. 2 per kg.
How much profit will he get if he sells the remaining quantity at Rs. 2.50 per kg? / ¥ gPhIHqRR Feed ﬂE 1.80
FUA/FHUT. BT g A TS SR 4.7 21 2 TUA/fHT. Y o3 A 99 I af a5 72 gu ag 2.50 T fpat sl v A
o9, Y I fara=m ey T g

1. Rs. 2600 / 2600 ST
2. Rs. 1600 / 1600 Y
3. Rs. 1850/ 1850 ¥UY

4. Rs. 940 / 940 3T

Correct Answer :-

« Rs. 1850/ 1850 SUY

10) If3A=4B=5C, then A : B: Cis: /Gf&¢ 3A =4B=5C,dl A : B: C 8NTI:
1.10:15:12
2.20:15:4
3.20:5:12

4.20:15:12

Correct Answer :-

e 20:15:12

11) After going 3/4t of my journey, I found that I have covered 16 km. How much journey is still left? / # 3ot

YTAT BT % YN T4 WR UTaT § 16 A9 16 fpanfier g« forar 31 enft g2t fraeht sik amn s+ @2



12) The ratio of the ages of a mother and daughter at present is 5 : 1. After 6 years, the ratio will become 3 : 1. Find
the present age of the daughter. / TAHTT § TP AT 3NT At B TG BT 3UTA 5:1 8| 6 TTA 91, T§ U 3:1 B
ST | 3 F} a9 g 4T 82

1.4
2.6
3.5

4.3

Correct Answer :-

13) The ratio of ages of X and Y is 6: 5. If the product of the ages of X and Y is 30, find the age of Y./ X 3Ry

3T BT SJUTA 6:5 31 TFE X 3R Y BT MY BT UFE 30 7, a1 Y B 3 fapasit 32
1.6
2.7
3.5

4.3

Correct Answer :-

14) The rainfall in Assam has been declining by 1 % every year. What will be the percentage of increase in the

rainfall in 2001 over 20042 / 3FTH ¥ g1 areft arfvzr & uferadf 19 Ft w81 7F &1 2004 T} g1 F 2001 & BT
o ufa=ra sifere arf=r gt 4

1.3.03 %
2.2.67%
3.297%

4.3 %



Correct Answer :-

* 3.03%

15) If x / 4 =3, then the value of x is: /qﬁ x/4=3, @l x Wqﬁﬁ'ﬂl’m
1.2

2.1

3.12

4.3

Correct Answer :-

16) If the radius of a sphere is increased by 50%, then the percentage increase in its surface area is: /Tlﬁ' TP ma

B BT B 50% 31 f&ar 1Y df 39S &awa A fbaq o @t gfs ghft:
1. 115%
2. 130%
3. 120%

4. 125%

Correct Answer :-
e 125%

17) A rectangular tank of 10 m long and 5 m wide contains water upto a height of 2 m. How much area will have

wet surface? / T 10 HeX @H 3R 5 HIeX 9IS MIATHR ¢ H 2 HieX HATS d& U W11 ¢ & el ad &1
awd faar sm?

1. 130 m2 / 130912
2. 110 m?/ 110%1.2
3. 120.5 m?/ 120%1.2
4,125 m2 / 125Ht.2
Correct Answer :-

e 110 m?/ 110912

18) A number is such that the product of its digit is 12. When 36 is added to the number, the digits get reversed.
Find the number./ T IS & 3| BT IUMEA 12 71 i 30 T=T H 36 Wits a1 ST dY 39F 3l & I
TR 96 STd § | 9§ HSI g



1.43
2.26
3.34

4.62

Correct Answer :-
o 26

19) A car covers one-fourth of the distance at 25 kmph and the remaining distance at double the speed. If the total

time taken is 10 hrs, then find the total distance. /WWN@%W@W%@@ZS fPR s aeA T
HYdl 8 SR AW gt I AP G ATA T T HRelt 31 A I A A 10 G 1 A poA gt o oA

1. 400 km / 400 T,
2. 300 km / 300 foBHT
3. 200 km / 200 fpHY,

4. 100 km / 100 T,

Correct Answer :-
« 400 km / 400 oA,

20) In a 1 km race, A beats B by 50 m or 5 secs. How long does A take to complete the race? / 1 fee. F A A,B

B 50 Y. 3YaT 5 V. T UDTS AT 81 A Y ¥ T H A foba=r 9w &
1.97.5 secs / 97.5 9.

2. 100 secs / 100 H.

3. 95 secs /95 9.

4.102.5 secs / 102.5 9.

Correct Answer :-

e 95secs/95 9.

21) A can complete a work in 8 days working 10 hours in a day and B can do the same in 12 days, working 8 hours
a day. If both are working together, working 6 hours a day, in how many days can they complete the work? / A

wfafe 10 ¢ 8 F3d gU fdt &0 3t 8 o7 & 1 32 dAar 3, B ufafed 8 62 H19 Hd gUSH S 1 12
f&1 o qrT 5% uran 81 9 S ATy frae) ufafed ¢ 6 w1 o8 At 3% ST R B | fraHn wwg @

3 3
7—days/{ T— EEI
11 5 11

1 I
T—days | 7—FeA
5 11 ¥ 11



9 g
7 —days !/ 7—f&<
11 ¥ 11

5 5
7days/ 7T=—
11 ¥ llﬁ?r

Correct Answer :-
3 3

7—days / 7—T¢A
11 . 11

22) If Deepak's age will be thrice his present age in 17 years, how old will he be then? / afe 17 91 § dius ot Sl

B! FAAT Y B i T g TR ot ITDT adu Iy fHai 82
1. 52 years / 52 a4
2. 51 years/ 51 @Y
3. 50 years / 50 Y

4. 53 years / 53 CL

Correct Answer :-
e 51 years/ 51 ay

23) The average age of 5 members is 21 years. If the age of youngest member be 5 years, find the average age of the

family at the birth of the youngest member. / Smaﬁéﬁﬂﬁéﬂ'ﬁﬂ af gl uﬁmﬁ%wﬁm 5q9 g
Al T B W &b T & 9HY URGR B 3ivad omg A

1. 24 years / 24 T
2. 28 years / 28 CL
3. 25 years /25 CL

4. 20 years / 20 CL

Correct Answer :-

e 20 years/20 G

24) The age of a mother, ten years ago, was thrice the age of her daughter; and if ten years later, her age would be
twice the age of her daughter; then, find the ratio of their years at present/ 10 atfuj, Udh AT BT 3 3D E'?ﬁ |
g o1 i T <R 3R afe 10 T I1E I 3mg IHS A B 3y F} SR B S @ aduE A I oy
BT 3guTd =T 8:

1. 6:5

2.4:3



3.94

4,73

Correct Answer :-

e 73
25) A grocer buys 5 eggs for Rs. 4 and sells at 4 of them for Rs. 5; find his percentage of gain or loss. / Th TRY 5
33 4 ¥UY T WA 8 3N ITH A 4 /S 5 TUA W a9 a1 31 S 3 S 1YAT ATY T Ufa=Ied F1d Hifore|
f?l%lossf 5?1%6 =
4 4
L = L
36—%gain / 56—"% T
4 4
Frocsn L
50— gain / 50-"% T
4 4

. None of the above / 371'3[ I aﬁ's“ '_‘|€f

N

Correct Answer :-

56 1%gain / 56%amT
4 4

26) Find the average of the following numbers: 9, 99 and 999 / 9, 99 3T 999 &1 3fid A 'tﬁTIT:
1. 100
2. 450
3.499

4. 369

Correct Answer :-
e 369

27) A stenographer typed 16,200 words on a given day. If she had typed for exactly 6 hours during the day, then
what will be her average speed of typing? / T TAITER A fodt T ﬁ:f | 16,200 Mo CIST ﬁ?Q' | uﬁ dg
Ufafe ¢ 4e eTsfivT Xl 31 o SHS! ergfivT $1 offvra nfa fpart grfte

1. 60 words per minute / 60 &g Ufd fe
2. 30 words per minute / 30 Xsq Ufdl fIe
3. 45 words per minute / 45 2Tsg fd e



4. 40 words per minute / 40 sq Ufd fi e

Correct Answer :-

o 45 words per minute / 45 R[eq ufd fime

28) A train covers a distance of 12 km in 10 min. If it takes 7 min to pass a pole, then the length of the train is / T

2?121§7ﬂ.a%§ﬁ1oﬁ=|zﬁaum?ﬁ%l gfe 98 T @ &) UR &+ § 7 e o1 9w adt @ Y g ot

1. 160 m/ 160 HI.
2. 140 m / 140 |,
3. 180 m/ 180 HY.

4,120 m/ 120 |,

Correct Answer :-

e 140 m/ 140 ¥,

29) Find the average. /3 d AT
42, 45,48, 51,54 & 60

1. 50

2. 49

3. 44

4.53

Correct Answer :-

30) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: /R a

T g #, &R 3N T=msi &1 v % fAfgd &1 Tad YU yganAe:

i.zdfg2031fzdg
ii.zdfq2031fzdg
iii.zdfg2031fzdg
iv.zdfg2031fzdg
1. 1ii

2. iv

3.1



4.1

Correct Answer :-
e ii

Topic:- Science and Simple Arithmetic
1 .
) The area of a square field is lﬂlﬁm‘. The length of the side of the field is: / Teh FAER a7
& ATAGe mlﬁ He2 §1 &t Fr 371 Fr wFaTs B

1.10.20 m/ 10.20 Hlex
2.50.52 m / 50.52 HIeX
3.10.50 m/ 10.50 Hiex

4.10.05 m/ 10.05 HIeX

Correct Answer :-

+ 10.05m/ 10.05 Hiex

2)
Which of the following is NOT the reciprocal of (2 )62/ forewforf@id & & #iw (2)¢ #1 A
8l 2l




3)
Find the value of x satisfying the EquﬂtiGﬂﬂ = x_f:. /x FT AF AT FL A 6 THEROT

a—b a+
I HsC HLT gl

x+b_ x—b
a-b a+bh

1.-b
2.-a
3.a

4.b

Correct Answer :-

AB and CD are two parallel lines. The transversal PQ cuts AB at Eand CD at F. If LAEP =v,

£/PEB =x, #DFQ = 3x, then the value of y is: / AB 3T CD g FAETA @ g He]qTET rc))
PQ,AB FI E W 3 CD F F W Fear gl I 2AEP =y, ,PEB=x +,DFQ=3x, ol y FI

HlA E’:
_ P
A 1% B
c —F— . D
¢ Q

1. 135"
2.140°
3.90°
4.45



155 ®155 ¥155—-55 %55 X55

155 X155+155 X55+553 55 ————
1. 120
2.100

3. 145

4.210

Correct Answer :-

« 100

6) Estrogen : ovary :: testosterone : / T{\‘ﬁﬁF{: 3T :: LI :
1. testis / qUUT

2. thyroid / ?JI'IBT\IJE_S'

3. pituitary / tﬁ'&l;&[

4, adrenal e«rfﬁqw/

Correct Answer :-

o testis / qUUT

7) Use of disposable cups made of soft clay (kulhads) is discouraged because: / I¥H ﬁl?f ¥ faffa fAge=
I g &Y (Peas!) D UieaTed el (BT oIrar § Fifb:

1. These are unhygienic / T 3w Bid gl
2. These are made of non-degradable substances / T A= tlaTzﬁ?r EE| B-)I?f %I

3. Making them on large scale will result in loss of fertile top soil / 3% EI@ M R T ﬁ\-l?f P HURI IUSS, WRd
BT JHAM T

4. The tea will not taste good / dTd BT Ilq 33T 7-|T§[ ?%‘ |

Correct Answer :-

» Making them on large scale will result in loss of fertile top soil / 3% a@ M R 1 &@Qf P S TSNS, TRd
BT JHHH GRT|

8) A student fails by 50 marks when he gets 30% marks. Another student passes by 30 marks when he
gets 230 marks. Then which of the following is the total maximum marks? / U BT 9d 30% 3% YT
FHAT g Y 50 3P A SII0T B AT B | TH 3T BT 9 230 3P T Bl § al 30 3ihI A S0l 8
1T 8 1 99 9 & A B | $a ifiwan 3w 82

1. 450



2. 550
3. 500

4. 600

Correct Answer :-

« 500

9) The radius of a circle is 6 cm. The perpendicular distance from the center of the circle to the chord

%vhich is 8 cm in length is: / TP 1 D1 34T 6 A 31 T & Fx | 8 T A& SiaT1 a B draad g3l

43/5cm / 445 THT

21."3:111 ! 2\."3 T
2.

3.2cm/2@'5ﬁ
4.4cm/4@'5ﬁ

Correct Answer :-
2v/5 cm / 24/5 H&HT

10) The length of the longest chord of a circle of radius 10 cm is: / 10 Tt B & Udh qaaﬁa“rﬁan
Sftar 91 s 8

1. IOCm/IO@jﬂ
2. 15cm/15@1ﬂ
3.20 cm /20 I
4.5cm /S@Tﬁ

Correct Answer :-

« 20cm /20 QH

11) The probability that it will rain today is 0.55. What is the probability that it will not rain today? / 3{TSl

auf gRft sHS! WIRiedT 0.55 § 1 S9! T WIfedr & & 3 auf =81 gifle



11

20
4,

Correct Answer :-

12) What will be the labour charges for digging a cuboid pit 8 m long, 6 m broad and 3 m deep at the rate

of Rs. 25 per m2? / 8 HeX @, 6 Wex TS 3R 3 Wiex T8 T g4 T #Y 25 T ufd HieR Hi v
T WieA & fore 49 Yo w1 ghm?

1. Rs. 4500 / 4500 ST
2. Rs. 2880 / 2880 ST
3. Rs. 4000 / 4000 ST

4. Rs. 3600 / 3600 ST

Correct Answer :-

« Rs. 3600 /3600 ST

13) What is the area of a circle inscribed in a square of area 288 cm?? / 288 T2 eowrd & ol A Ipivt
TSP g BT &b d 182

1.367°
2.144 ™
3.228™

4.72™

Correct Answer :-

14) Which organ is affected in the case of jaundice? / Hiferar '[wﬁﬁ Edl o oI AT 3T gHIfad ﬁ’cﬂ %?



1. Liver / Uopd
2. Heart / Q4
3. Stomach / O€

4. Lungs / m
Correct Answer :-

o Liver/dopd

15) Which one of the following is likely to cause tsunami? / G| 73 feg Th | '\‘]FITFﬁ 3-1% B HHTGAT ﬁ'cﬁ %?
1. Lightning / fooTe!

2. Wind / dIg

3. Under water earthquakes / 3f ot by
4. Snow / 9%

Correct Answer :-

« Under water carthquakes / 3{¢Toc] Yy

16) The process of waste water treatment is called: / SURT & SUAR 1 UihaT HY HT 1T 8:
1. Desalination / fdcaur

2. Water pollution / SI¢T UgHUT

3. Chlorination / FIRIMIHRT

4. Sewage treatment / HISTA MY

Correct Answer :-
« Sewage treatment / Heold e

17) When a person overeats, his tissue fills with fat. / STd aﬁ‘{ e 3reafes @rdT %, JHPT
Sa® T Y WR ST 3 |

1. adipose / qut
2. stomach / U

3. skin /'«ddl

4. muscle / ATIORI

Correct Answer :-

« adipose / T



18) When alcohol burns in air, energy is liberated in the form WA CICIE ¥ Uehlgid ggd deal g, i
St FFUA g gl 2|

1. heat and light / 3 BHT TYT UHIRT
2. heat only / Had SEAT
3. light only / Had JHT

4. light and sound / URTRI dT IE]

Correct Answer :-

« heat and light / 3 BHT TYT UHIRT

19) In desert plants, rate of water loss gets reduced due to the presence of: / IR & e ﬁ, I g1 Bt g
@] IUFRIFA & HRUT HH g1 A1l 3:

1. Suberin / 'ﬁaﬁ_'l

2. Cuticle/aq%ﬁ
3. Lignin / SIPE

4. Stomata / IY

Correct Answer :-

« Cuticle / FfHd

20) The energy in the reactor of a nuclear power station is produced by the process of: / TRET Sult TaT &

freger # St = ufpa & mTom A Sa= 8 o :
1. Nuclear absorption / AHH T fa=Iyor

2. Nuclear fission / DT fa@g

3. Nuclear emission / NGB IcTo

4. Nuclear fusion / FTTeb 1T T

Correct Answer :-

« Nuclear fission / AP faGdesa

21) While reading a book, the minimum distance required between the book and the eye is: / T fpare ua?r qHY,

&I 3R 3@ S &t srage gan gl gt :
1.50 cm / 50 Y
2.20 cm /20 94T
3. 12 cm/ 12 9T

4,25 cm /25 A



Correct Answer :-

e 25cm /25 9H

22) Mosses are bryophytes are characterized by: / 'Fl'ﬁ'\q, HIThTFTEE Eﬁ% %., S| Wﬁ mﬁ CIGH %
1. Dominant sporophytic phase / YT WRIBTSeH TaRl

2. Unicellular sex organs / mﬁ’q oI 3T

3. Heterotrophic mode of nutrition / UIY0T T RAIMNT Al

4. Dominant gametophytic phase /Ulﬂﬁﬁﬁamw

Correct Answer :-

« Dominant gametophytic phase / UHTd! THCIHTSeH Traw=T

23) Diabetes is characterized by: /ng?rs' * &1 %

1. Scanty urination / »H BRI

2. Loss of appetite and fatigue / {9 Bl 3R YHH

3. No urination /el'QTITﬁ’ - AT

4. Frequent urination and unusual thirst / SRER TS 3R SHRT T
Correct Answer :-

e Frequent urination and unusual thirst / IRER UE 3R GHR T

24) Which one of the following statements is NOT true for a rhombus? / T H’Hﬁﬂ’lj\_rr ¥ fore Fafafea
HYET H F DI 91 b T T8l 82

1. All sides are equal. /Q:m)f Wwa?ﬁ %I
2. The opposite angles are equal. / faRid S 9HHE B %I

3. The diagonals bisect each other at right angles. / fawuf ue g{-l?l B GABIN IR PHlcd § |
4. The adjacent angles are not supplementary. / STHT DI T g@li’ & R el 8ld %I

Correct Answer :-

« The adjacent angles are not supplementary. / STHT DI T §Fli’ & R T g gl

25) When @ * (x—3) = x3—4x2 + x + 6, then @ = J9E@ (x-3)=x3-4x2+x + 6, GG @

1.x2-x-2

2.x2-x+2



3.x2+x+2
4.x2+x-2

Correct Answer :-

26) Deep pits on the surface of the moon are called . [ IHT 3| Ydg > T@ TI%' am?n?r %'I

1. volcanoes / W'IT‘I'IH@
2. rocks / A

3. craters /m
4, boulders / TTIARA

Correct Answer :-

e craters/ m

27) A flower with both male and female reproductive parts is called a VAC L] forgw == qur Hiar
ST o ST BN |, Fgar gl
1. bisexual flower / SHATH gy

2. pistillate flower / AP AR gy
3. staminate flower /W gy
4. unisexual flower / TafcH qu

Correct Answer :-

« bisexual flower / YA g

28) Cube root of -27 % 2744 is: | -27 x 2744 FT A 2:
142

2.-42

3,21

4.21

Correct Answer :-

. 42



One of the below mentioned calamities is not a natural one. Identify it. / ﬁ"}l -k | Tdh ATl LTITﬁﬁ? Tqql Hﬁ
HEGR IR

1. Deforestation for urbanization / GBI & [T ?Fh:‘ﬂ\?l:[

2. Drought / &I
3. Earthquakes / HbU

4. Floods dle/

Correct Answer :-

o Deforestation for urbanization / { 6'\§|$QU & ﬁ‘l'q EIW:[

30) The present population of a village is 28000. If it increases at the rate of 5% per annum, population after

2 years will be: / T TIid B! gdHE S-HGIT 28000 &1 TfS TE 5% Ufddy $1 &3 I 9! @ I 2 Iul 91
SE@n ghft:

1. 31000
2.30820
3.30870
4, 30800

Correct Answer :-

« 30870



